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Section2 -3

Chapter 2 review

1. Which of the following statements is nof true?
A.S+(-4)=1 B.5+(-5)=0 @(-5)+0=5
D.(-5)+(-4)=-9

Simplify each of the foliowing.

=~ (W12 (2) £15

= (-1D+lo

3. (-8)+2x+15 JE—H—J
=8)+15+2%
:]fi+2Xi

4.12+5 —_@
5.12+(-5);@
6.(-12)+5;Eﬂ
7.(-12)+(-5) :E/UT

8.-1(-12+5] = (2 +(-5)=[T]

2. (-4)+(-13)+15+(-2)

W

9. Evaluate— 13+ (-x) +yifx=-12andy=-7
“BHIZ) 4 (-T) = -13+(-7)¢ 12

= -20+12 :@
10. You have $132 in your checking account. You deposit $46 and then make two purchases with your debit
card. One for $17 and the other for $93. What is your new balance? (SZ ¥ LHo -7 - 93

= 178 +(-110)
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Simplify each of the following.

11.12-5 ;

12.12-(-9) = 1245 =7




13.(-12)-5 = -\24+(-5) = -7
13.(-12)-(-5) = -(2 +.5=]-7

16.-1-12-91 = ~[ (-2) +(5)) = 1245 =([1]
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Use the distributive property to simplify each of the following.

16. (37 x 83) + (37 x 17)

31(8%+17)
37000) (37601
17.16(29)

(33) %)= BE

18. (0.25)(38) + (0.75)(38)

33( (0.25)+(0.75)]
1 Qg‘én[; [2:}; @

] 3an|
Simplify.

20.5x+7 +8x—3
Sx+8x+7 (-3

2 w4d
X+2)+5x-3)—- 7x+4

3x+b+5x 15 -7x +H

BxeSxel-Tx) + e Yy 4 (=)= i l
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Simplify

22 -9y =g |
23.6X-3) = [-15



25. (- 3x)( - 2y) :@/x?

)

B.(-3)(5)2) = (, 50]

SR

7. (-D@)X-5)6) =|+ gD

N
a.

N
~J

28. 2(x — 3y) - 3(x — 2y)
2X 495-3)(4'0
2x -3 by + Floy) = |- X |

y
S ] =N - = =1
29 2L+5 ‘l.-i—2 z

(Z)tsn +2m «(-D)m = H;~:h +("2’)m :IZh-mJ
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Simplify each of the folilowing.
30. (-p2)(-3)

(AP % 3]

31. }-( —8a + 4b)

32. (24x = 12y)(- 3)

_-MX+Zg}

33. —;—-(40 —6d) —%(6c —9d)
2¢c-3d -3C+3d :@-

Classify each of the following as true or false.

; § 3. 4

34. The reciprocal of; is - ! ——l- ’

35. The multiplicativé inverse of —§ is -;1
36. The reciprocal of 0 is 0.

37. The multiplicative inverse of — 1 is 1. J 1:— [




38. The multiplicative inverse of 1.25is 0.8.
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Simplify each of the following.

39. 86+(-8) :K,\’Z]

40. _-9 = ’q:’(_"‘é>
t2)-(8): (7

41, (-12)+=@36) = 12 _ |- 1
<1 .

42. Find the average of - 21,19, 5,and-11. -2| 4_(-—“) FIG+s _ -32+ 24 _-%
4 4 'LT:D'Z

43.Evaluatea—3b ifa=9,b=-2 andc=3.
B q—B('Z)cq+(o_ 5 .- o
g il
Classify each of the following as true or false.

44, 12+4=4+12 { = ’

45, (12+4)+3= 1‘2-:-(4 +3) @
46. 12-6=4-6 ,
55 Y E]

et

47.12+(-2) = —6 E/—
48. (-3 +12=-— [:Ij




